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Yusef knows the solar panels will not produce all the electriciy he needs.
‘The solar panels can produce 2800 kWh of electricity in 2 year.
‘The table shows how much electricity Yusef used each year for the last 6 years.

Year 2006|2007 2008 [2000 [200 2011
Electricity
used (kWh) | 4000 3800 [3600 4200 | 4500 |3900

Yusef thinks he uses 2 mean average of 4000 kih of electricity each year.

(b) Work out f Yusef is right.
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‘Yusef plans to put solar panels on the roof of his house to
produce some electricty.

‘The diagrams show one side of the roof and a solar panel.
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Yusef knows:

each solar panel on the roof needs a space of 1000 mm by 2000 mm
the panels must all be the same way round

the side of the roofis 9.6 m by 32 m

he wants as many solar panels as possible.

(@) How many solar panels could Yusef fit on one side of the roof?
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